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Q.No: 1 Lever system and Dhekli are the traditional methods of which among the following?

2426880
iR Riee SR Spell Fofarad 7 9§ fbad urufe @i 82
Cultivation
A
wdt
Sowing
B
qaTg
Harvesting
C
LT
Irrigation
D
R

Correct Ans : D

Subject : General Knowledge

Q.No: 2 Under the Antyodaya Anna Yojana, Indian government provides to millions of the poorest families?

2427382
Iy 3 TSI b d8d, YR TWHR AREl TR URARI BT TeH Bl 82
Free Food
A
U e
Subsidised Food
B
TR ur Hisr1 (Afous) arem Yier)
Amount to purchase food
C

Yo Wt at Il
D Cooked food
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PT g1 Hie=
Correct Ans : B

Subject : General Knowledge

Q.No: 3 What was the target year set for India's plan to produce 175 GW of renewable energy?

2427394

YRA BT 175 TNGIE AGBRUTT SHul Bl IIed B Bi Aol o1 iR d&d Iy o o1?

2021
A

2021

2022
B

2022

2020
C

2020

2023
D

2023

Correct Ans : B

Subject : General Knowledge

Q.No: 4  The G-24 was established in which year by the Group of 77 (G-77) as one of its Chapters?

2428878

G-24 & TG fbd a8 QU 311 77 (G-77) 3 30 U e & =0 § $T A2

1995
A

1995

1971
B

1971

1999
C

1999

1976
D

1976

Correct Ans : B

Subject : General Knowledge
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Q.No: 5 When did International Monetary Fund (IMF) founded?

2428879
SRR HoT PN (IMF) BT RITTAT Hd §&?
1974
A
1974
1964
B
1964
1954
c
1954
1944
D
1944

Correct Ans : D

Subject : General Knowledge

Q.No: 6 What is the name of the Parliament of Pakistan and Bangladesh respectively?

2428935
U SR SR &1 WG PT 1 HHL: R 32
Majlis-e-Shoora, Jatiya Sangsad
A
AIer-T-3T, S G
Jatiya Sangsad, Majlis-e-Shoora
B
STty WG, Aeferd-U-gRT
Melli Majlis, Sansad
Cc
Aeft Aifer, Wvie
Majlis al-Umma, Knesset
D

Ao 3d-3WT, FAC
Correct Ans : A

Subject : General Knowledge

Q.No: 7  Congo River was formerly known as
2429065

HI ! B Ugd & A I ST S AT

A Zaire River
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FAa /A T

Zambezi River

st 7dt

Orange River

ST

Vaal River

IS

Correct Ans : A

Subject : General Knowledge

Q.No: 8 The Daintree Rainforest is located in which country?

2429066
33 e v 3w & Ry 22
United Kingdom
A
gTges femsw
Australia
B
sitefern
Canada
C
HHTST
Brazil
D
EIEICH

Correct Ans : B

Subject : General Knowledge

Q.No: 9  Who was made the first viceroy of India through the Government of India Act 1858?
2432128

fPd YR WeR ARAIFTY 1858 & A1e0H § YR BT UgdT ITAIRTY 1T 74T YT?

Warren Hastings

R g

Lord Canning
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ars BT

Lord Cornwallis
C

TS Hrarerd

Lord Wellesley
D

IS aaerent
Correct Ans : B

Subject : General Knowledge

Q.No: 10 By which act the Life Insurance Corporation of India was established?

2432153

YR St s i @ wire e sifafem grr ot 7 o

Life Insurance Corporation Act, 1936
A

St oitar o siftrr, 1936

Life Insurance Corporation Act, 1940
B

Sitae e o sifters, 1940

Life Insurance Corporation Act, 1950
C

Siteq dtar e sifafaaw, 1950

Life Insurance Corporation Act, 1956
D

Sitaq ftar e sifafaw, 1956

Correct Ans : D

Subject : General Knowledge

Q.No: 11 Which of the following states is famous for spice production?

2434462
fFraffed & & S O1 g weTer IaeT & o uReg © 2
Uttar Pradesh
A
S W
Bihar
B
[EE
Kerala
C
CaG|

D Maharashtra
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HERTY

Correct Ans : C

Subject : General Knowledge

Q.No: 12 Who won Silver at BWF World Tour Finals 2021?

2437135
BWF &8 R B3 2021 H Ryear fore sfar?
Saina Nehwal
A
T Agard
PV Sindhu
B
didt Rig
Srikant Kidambi
C
feia feardt
Prakash Padukone
D

WHTN UIGHIOT
Correct Ans : B

Subject : General Knowledge

Q.No: 13 Biraha folk song is associated with which area of Uttar Pradesh?

2440761
forgT Aeiia IR vew & frg & § el 82
Eastern U.P.
A
udf g, d.
Western U.P.
B
ufidt g, 0.
Braj Region
C
S &=
Bundelkhand
D

Correct Ans : A

Subject : General Knowledge
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Q.No: 14 The remains of which famous site can now be found at the Indian Museum of Calcutta?

2441206
g UG =@ F /A Sd HAGT & URATT JIETAd B U S Yabd g2
Bhumra
A
YA
Bharhut
B
Hgd
Gotampur
C
T
Satdhara
D
HAYRT

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Which of the following places is popularly described as the ‘place of many wonders’? (Only from the given options)

2441407
fofafed 3 9 g wF &1 dsia U s e & RIF' & w0 § affd faar mar 82 (Faa fu T fawadt & 9)
Amarkantak
A
I
Chitrakoot
B
fRege
Maheshwar
C
oW
Mandsaur
D
AR

Correct Ans : B

Subject : General Knowledge

Q.No: 16 Which of the following districts Ken River originates from?
2441411

F 7t Fgfafaa & 9 faa o 3 3@ gt 872
A Bhopal
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wiare

Jabalpur

SEGEC
Chhatarpur

BTRR

Raisen

LR

Correct Ans : B

Subject : General Knowledge

Q.No: 17 The Nagpur High Court was established by Letters Patent for Central Province and Berar in which of the following years?

2441713

T Yid 3R RR & Y AR I rnerd &1 RITOAT ey Uee grT Fufafad & 9 frg af & ot 78 R

1933
A

1933

1936
B

1936

1939
C

1939

1942
D

1942

Correct Ans : B

Subject : General Knowledge

Q.No: 18 As per the Census 2011, Alirajpur district has the literacy rate of ___ . (Approximately)
2441773

2011 B SIUAT P SR, SRR O B GeRaTax @1 (SHTH)

36.6%
A

36.6%

43.3%
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43.3%

52.2%
C

52.2%

24.95%
D

24.95%

Correct Ans : A

Subject : General Knowledge

Q.No: 19 What is the name of China’s first Mars exploration mission?

2776144
9 & U IS AV AR BT A T 82
Tianwen
A
[CRIECE]
Chiang XI
B
i X1
Tangwei
C
a=Tag
Mario 2
D
aTfaT 2

Correct Ans : A

Subject : General Knowledge

Q.No: 20 Usha Ganguly is associated to which of the following?

2776145
I et ol & ¥ e wefta 72
Table tennis
A
g cfw
Cricket
B
fpde
Singer-Songwriter
C

e Maeas

D Theatre Director, Actor
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e srveeR, Taer

Correct Ans : D

Subject : General Knowledge

Q.No: 21 The animals that have two germ layers in embryo are termed as-

2429843
ST Sigsft & yor & < MY R B & S Hel oIl ©-
diploblastic

A
fiwtery
eumetazoans

B
gaawuroft
triploblastic

C
ECarsd|
cryptogams

D
gefurey

Correct Ans : A

Subject : General Science

Q.No: 22 Observe the following figure given below. This organism belongs to which phylum?
2429916

Pteridophytes

Hstwgey

B Thallophytes
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a?ﬁEFISE:\‘I

Angiosperm
C

STgateit

Bryophytes
D

EIRIL R

Correct Ans : D

Subject : General Science

Q.No: 23 A hole in the ozone layer was found above

2431695
S R | TP &a & W U W
Australia
A
sifeeferar
Antarctica
B
SfeThfedT
Africa
C
STBTHT
Greenland
D
dds

Correct Ans : B

Subject : General Science

Q.No: 24 is produced from incomplete burning of fuels such as petrol and diesel.
2431722

I 3R SIoe oI S8 & 31eR STeH § S gial gl

carbon dioxide

P SIS ATFITSS

carbon monoxide

P AArATFaSS
hydrogen sulphide
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FIESIS PSS

ozone

CIEIE]

Correct Ans : B

Subject : General Science

Q.No: 25 Which of the following diseases is common in slums due to unavailability of clean drinking water?

2434302
WS UOSd BI SISl & HRUN A Sfert # Fofifad & @ o o diurt smy g2
Dysentery
A
Aferr
Cancer
B
FH
Polio
C
aiferat
Whooping cough
D

Caike il
Correct Ans : A

Subject : General Science

Q.No: 26 Mark the incorrect statement.

2436411
TAd HYA Sifod Y -
Light travels In a straight line
A
BT TH el a1 A ar wRar @
One cannot see lighted candle flame through the bent pipe
B
TF 43 gU UISU & |1 | A=A HiHexit &1 & B 981 371 o1 qopaT @
One way to change the direction of light is to let it fall on a shiny surface.
C
TSI B! 2 9ga 1 U Hi1 7% § 6 38 awdper e W AR fan s
Surface of water cannot change the path of light
D

o 3t WaE veT ¥ ARl @Y 98 aea wedt @

Correct Ans : D


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Subject : General Science

Q.No: 27 Which of the following can be used as antiperspirant?
2437205

fRafafad # 3 feger Iua ufedes & w0 H fbar o1 Iear 22

Aluminum chlorohydrate

A
L3 LIRELESINL R
Sodium hypochlorite
B
Hifsaw grguiRIge
Diethyltoluamide
Cc
STAYUTEACIIAES
Calcium carbonate
D

Ffergw sEe

Correct Ans : A

Subject : General Science

Q.No: 28 Chipko movement is related to which of the following?

2439800
et sifeiaq fafafed # @ frad wefa g2
Maiti Movement
A
A srRre
Forest preservation
B
T &7
Bishnoi movement
C
fasig siigrer
Peace valley movement
D

it =rdt S
Correct Ans : B

Subject : General Science

Q.No: 29 Which one of the following elements is found in maximum quantity in the Earth's crust?
2439844

GET IT ON

Google Play
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fofafaa # 9 &9 W 9@ Youd (Earth's crust) & waffes AT & m Sfar 872

Potassium
A

arefRrm

Oxygen
B

Siefter

Sodium
C

Hifsan

Calcium
D

Hferraw

Correct Ans : B

Subject : General Science

Q.No: 30 The image/jpg formed on the retina of a human eye is

2439878
T 3 X W S aren wfafa Bl gl
Real and inverted
A
TAfI® SR et
Real and Virtual
B
Tafa® SR syt
Only inverted
C
Fad Ieel
Only Virtual
D
Fad THRA

Correct Ans : A

Subject : General Science

Q.No: 31 Which is the largest gland of the human body?

2439925
AFE IRR &) Ja9 gt U HH-3 72
Liver

A
gpd

B Heart
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§ed
Pancreas
C
STAR™
Spleen
D
et

Correct Ans : A

Subject : General Science

Q.No: 32 Zaid crops are typically sown after the harvest of

2783654
TG B M TR W @I HeE S 916 a1 o g
Rabi crops
A
T B Had
Kharif crops
B
E B B
Summer crops
C
Pl CIRIE R
Autumn crops
D

qdsIS B! BEd

Correct Ans : A

Subject : General Science

Q.No: 33 Which of the following is not an adaptation in xerophytes?

2783800
Frafefad & 9§ 1 91 SRIwEed 7 g Tel 82
Large leaf size
A
TS TR BT ABR
Thick cuticle
B
mé st

Sunken stomata
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T 39

Extensive root system

TS TS YOIt
Correct Ans : A

Subject : General Science

Q.No: 34 Following is a picture of bread mould and mushroom. Which of the following characteristics is not true about the kingdom they
2784635 pelong to?

Edible mushroom
cap

gills, bearing
spores

mycelium

They are eukaryotic.

A

3 gHfvafes &

They have cell wall.
B

398 Pkt ARy S 1

They have autotrophic mode of nutrition.
C

<78 dryur 3 o ARy 9 21

They can be unicellular or multicellular.
D

3 THHIRFIT I1 TEHIRSY &) T4 g
Correct Ans : C

Subject : General Science

Q.No: 35 During photosynthesis, carbon dioxide is taken in through tiny pores called:
2784715

b1 YTV & SRM, Bla- SISHZS DI Die fval & Aeqd | foran wran g R et o &

A Stomata
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]

Guard cells

&P B

Xylem vessels

g TPy

Phloem fibers

TTH BIgER

Correct Ans : A

Subject : General Science

Q.No: 36
2424526

Find the odd word out.

ST Yeg T I DI
Ashoka

3IMP

Bindusara

fogar

Ajatashatru

. EIGRIF|
Brihadratha

fogeRy

Correct Ans : C

Subject : General Reasoning

Q.No: 37
2424537

Find the odd word out.

ST Yeg T I DI
VV giri

4t 4t frft

Zakir Hussain

GET IT ON

Google Play
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R g8
Rajiv Gandhi
C
MEICKIE
Zail singh
D
e Rig

Correct Ans : C

Subject : General Reasoning

Q.No: 38 Find the odd number out.

2424545
ST =T BT TG Do
27
A
27
512
B
512
8
C
8
243
D
243

Correct Ans : D

Subject : General Reasoning

Q.No: 39 Which of the following indicates the best relation between Trigonometry, Simple interest and Mathematics?
2426588

fFaffed & ¥ S19-T1 Beuffa, IRy s 3R 1 & S go8 3 Yoy BT Suial 87
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B
®

@
@

@
G5

Correct Ans : D

Subject : General Reasoning

Q.No: 40 Which of the following diagram indicates best relation between Chair, Glass and Knife?
2426736

Frfied § | B 91 3R Hf, Bid R =g b sid o 3= JaY Bl Gl 82

O OO

O OO

© ©
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Correct Ans : A

Subject : General Reasoning

Q.No: 41 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427794 one like which the paper will appear when unfolded.

___L_..

[ |

|

1
Y

|

H2 faT 71 Uy o H UF FI & gohe Bl TSI 3R el M1 8, < T SR P F fadwedl T A IU IW 3P &1 997 W, o 6 A8 8k

|
|
1
1
W

FIC T SIS B WA W P g

.-_L-..

[ |

|

|
—

1

P o—— = -

[=

™

L=}
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C
\
O\
AN
\\\\::\\\u

D

N\
\“\\\

o a

Correct Ans : C

Subject : General Reasoning

Q.No: 42 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427807 one like which the paper will appear when unfolded.

-
L b .a'_"\
& 5 s "
f ]
1
\
‘-.

3 o T vy ST 7 U BT & ghs P HIST 3R FICT T &, & T8 SR PN & [Abed H § I I PN HT 997 R, S/ b Alg IR

HIC T HITS Bl @i W 3P 0|
z"_‘-\,‘ ;'F“‘\
) &
s e
o ¥
A
s 'e
o ¥
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s 2
b o
B
s
b o
C
D

Correct Ans : B

Subject : General Reasoning

Q.No: 43 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427808 (e Jike which the paper will appear when unfolded.

r b
[T |
1 |

|

RN

s

3 o T vy ST 7 U BT & ghs P HIST 3R FICT T &, & T8 SR PN & [Abed H § I I PN HT 997 R, S/ b Alg IR
HIC T HITS Bl @i W 3P 0|

1T, ]

r 1
| | |
1 I

I

N
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e e
= =
ab“
B
e
= =
.aD“
& &
rd &
C
& &
rd [~
® 2
@
D
& %
@ @

Correct Ans : D

Subject : General Reasoning

Q.No: 44 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427819 e like which the paper will appear when unfolded.

-7 T T TN
4 . ; .
! I \ i [
1
o
\ b
by
.

2 faT T Uy ST B TP BRI S s DI HIST SR PIeT T 5, & T8 IR NP & fadved! § ¥ IH IR G BT 907 B, Ol b Al 3R

FIC T SIS B WA W P |
J"’-“\\ f"—_‘-."\
! | Y I v
b
-
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nu
0%

X%
AN

X%
#X

X%
%X

X%
%X

Correct Ans : C

Subject : General Reasoning

Q.No: 45 As shown in the question figure below, A piece of paper is folded and cut from the given options in the answer figure. Select the
2427834 (e like which the paper will appear when unfolded.

s L,
ra b i a
. R d i IA]}\

it o T vy eI 7 U BTG & ghe B HIST 3R FICT T &, & TS SR PN F Abed H ¥ I9 I P BT 997 IR, S b Alg iR
HIC T HITS Bl @i W 3HT 0|

oo
o0



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

nJ
L
~J

GET IT ON
Google Play

% A
Pl

qu %o d""o Oﬁ”b

| [ [P [
& %,

S %,

0
S %,

Correct Ans : B

Subject : General Reasoning

Q.No: 46 Which answer figure will complete the pattern in the question figure?
2433186

\

& TS IR Mpiadl F F HI- =T MBI & Yo B -7 B

F4
?
V .
\V
A
\V
B
\V,



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

\

N
c

AV
D

Correct Ans : A

Subject : General Reasoning

Q.No: 47 Identify the figure that completes the pattern.

2433509

?

2

I NPT BT Ug= B S Yo & I ! 2

?

2
22

2
TR

GET IT ON
Google Play
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&K
<

K

DDA

Correct Ans : A

Subject : General Reasoning

Q.No: 48 Select the option that is related to the third number in the same way as the second number is related to the first number.
2434915

41 :369 ::?: 306

I e &1 99 < S Rt T I I YR Weifdd § SR guRl e vga e ¥ Tefid

41 : 369 :: ?: 306

31
A

31

32
B

32

33
C

33

34
D

34

Correct Ans : D

Subject : General Reasoning
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Q.No: 49 1Identify the classes that best represents the relationship among the given diagram.

2435567
3 AT Bt UgE X S T T oRE F HT e BT FaY ST UG FR §
Professor, Teacher, Player
A
R, e, f@arst
Electrons, Protons, Atom
B
Professionals, Students, IPS
C
TR, BT, AEHTH
Mountains, Plateaus, Plains
D

ydd, UoR, AeH

Correct Ans : D

Subject : General Reasoning

Q.No: 50 Identify the diagram that best represents the relationship among the given classes.
2435679
Mammals, Giraffe, Animals

39 3G B Ugd B ol foU U ANEY & S Joy &1 Ted 3T ufaffia B 21
TYURY, foRTw, Oy

A
I(’;?\ qﬂ\"l
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Correct Ans : C

Subject : General Reasoning

Q.No: 51 1In a certaion code ‘WATER' is coded as ‘DZGVI’. How ‘COLOUR’ written in same code ?

2726850

U DI HINT H "WATER’ B! 'DZGVI’ I a1 Sidl &1 I &8 # *COLOUR’ ! fbyg TR ferar s

XMVJIVI

XMVJIVI
XLFLOI

XLFLOI

XLOLFI

GET IT ON
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XLOLFI

XLOIFL

XLOIFL
Correct Ans : C

Subject : General Reasoning

Q.No: 52 At sunrise, Ravi and Sachin are having a conversation standing in front of each other. The shadow of Sachin is formed towards the
2727074 right hand of Ravi. What direction is Sachin facing?

Tofeg & wH, 3T 3R I T R & T TS TR dIadid o I8 &1 G B IRBTS G F aied g1 DI 3R o 81 Gied &1 g g fa=m
@ 3R B2

North-West

IR-ufdm

South

North

West

ufgy

Correct Ans : C

Subject : General Reasoning

Q.No: 53 If south-east direction becomes North and North-east becomes West and all the rest directions are changed in the same manner.
2727075 \hat will be the direction for the west?

Ife; feror-ud fomm IR 1 9 € SR ITR-ud ufye g St ¥ oiR w1t Wt fymmaht &t St avg seq foar Sian ¥1 ufy &) fawn @ enfie

South
A

afgror

South-east
B

afror-gd

South-West
C

SfRr-uft

D North-West


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaiM

ITR-Uufda

Correct Ans : B

Subject : General Reasoning

Q.No: 54 What should come in place of question mark?

2727095

O
A
c f

c

0O
A L

A
¢
o

O
A
c 4

?

YA g & RIM W T ARAT?

Q
A
c

C

O
Al

A
c
o f

QO
Fa¥
c 4
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@)
C
A

Correct Ans : A

Subject : General Reasoning

Q.No: 55 Read all information carefully and answer following question?

2727107
Digits/Symbols- * § %+ # A © 354721689
Codes-AB CDEFG HIJKLMNOFP
(I) If first place is even number and last place is odd humber then both places are to be coded by first digit / symbol.
(II) If first place is odd number and last place is even number then both place codes will be interchanged.
5169*
fau e =N @ ug SR U MY Uy &1 SR 2
HEFAH-* $ %+ £ A©3547216809
PS-ABCDEFG HIJKLMNOP
(1) Ife; Uga Ue 91 e € S8R sifaw ue fawy T § df ugd $iR SifqH ug & @i H Usd ug &1 Sis frar sy
(11) 3¢ ygar uq fawy e § 3R Sifaw ug g1 Iw= ®, o Ugd 3R 3ifad Ue & PIs! &1 3muyg § RIF uRad- faar sem|
5169*
IMFJA
A
IMFJA
INMJA
B
INMJA
IMNPA
C
IMNPA
IMGDA
D
IMGDA

Correct Ans : C

Subject : General Reasoning

Q.No: 56 The population of a town increased from 175000 to 262500 in a decade. The percent increase of population in that decade is:
2422267

TP o¥F H U UeR ST ST 175000 J F¢HR 262500 8 TS| 3 b | oFGQ &1 Ufawd gfg 7:
A 42.5%
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42.5%

50%

50%
45%

45%

47.5%

47.5%

Correct Ans : B

Subject : General Maths

Q.No: 57 In an examination it is required to get 36% to pass. A students gets 160 marks and fails by 20 marks.
2422316 The maximum marks are

U% T o 3Tl 34 & [T 36 Ulwid 2ies Urd &A1 2A1990% §1 U6 813 160 26 a Hid o
R 20 AT Y AT AT | Aferpam 2l §

400
A

400

450
B

450

500
C

500

600
D

600

Correct Ans : C

Subject : General Maths

Q.No: 58 The number of students in 3 classes is in the ratio 3 : 4 : 5. If 15 students are increased in each class, then this ratio changes to 4
2429464 . 5 : 6. The total number of students in the three classes in the beginning was:

3 Femafl § faenfiat 3 Rem &1 o U 3 ¢ 4 : 5 71 A UAS wen & 15 faendf 9 o § df g€ ouId 4 : 5 : 6 B ST 71 ARY B AT Femaft H
foenfiat @t o e dt:

240

240

B 150
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150

180
C

180

210
D

210

Correct Ans : C

Subject : General Maths

Q.No: 59 The total number of men, women and children working in a factory is 18. They earn Rs 4000 in a day. If the sum of the wages of
2429499 g men, all women and all children is in the ratio of 18 : 10 : 12 and if the wages of an individual man, woman and child is in the
ratio 6 : 5 : 3, then how much a child earns in a day?

TP BREM H B B aa JouT, Afgarsit iR a=i &) $a B 18 §1 3 T fod H 4000 308 HAE ¢ afe Tl gout, T+t afgarsi ok @i
T Bt HoTg! BT AT 18:10:12 F U H § 3R It T Yoy, AR 3R 5= 3T Aeigdt &7 SUId 6:5:3 €, O TP I=1 U fod & fobaan waman
??

Rs. 400

400 U4

Rs. 150

150 ¥4
Rs. 600

600 ¥
Rs. 250

250 T4

Correct Ans : B

Subject : General Maths

Q.No: 60 Anita deposits Rs 1000 in a savings bank account. The bank pays interest at the rate of 5% per annum. What amount can Anita
2432818 get after one year?

AT A §9d §% Wd H 1000 I9Y ST BT b 5% Ufd af BT eR I SIS BT YA AT 81 P A1 918 S B et i et et 82
1150

1150
B 1050
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1050

1160
C

1160

1060
D

1060

Correct Ans : B

Subject : General Maths

Q.No: 61 A sum fetches simple interest of Rs 112.5 at rate of 12.5% p.a. in 10 years. What is the sum?
2432887

TP AR W 10 a8 7 12.5% Ufd 9 & R F 112.5 TTY BT JIYR ATl ferar g1 f a1 82

Rs 90
A

Rs 90

Rs 60
B

Rs 60

Rs 20
C

Rs 20

Rs 50
D

Rs 50

Correct Ans : A

Subject : General Maths

Q.No: 62 ) i
2433007 \Whatis the product of v

and its reciprocal?

7
2163

- ZH & P FT [T FAT 22
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1

Correct Ans : D

Subject : General Maths

Q.No: 63 There were only two candidates in an election. One got 62% votes and was elected by a margin of 144 votes. The total number of
2435204 voters were:

% g9 & Had ¢l SENGAR U1 U BT 62% dic B 3R 98 144 e & SR ¥ AT 77| Aderanst ot oo I ot

400
A

400

500
B

500

600
C

600

650
D

650

Correct Ans : C

Subject : General Maths

Q.No: 64 Rajeev distributes Rs 8600 among the three children (Rohan, Mohan and Sohan). Rohan gets 25% more than Sohan, and Sohan
2437813 gets 25% less than Mohan, then how much total rupees Rohan will get?

Iofia J T =t (A, HigT IR Te) & i 8600 ITT T | g B Te ¥ 25% 31t firetar B, 3R Wiga &1 /g9 ¥ 25% o4 faar g,
A B Fd fba I A

A 3000
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3000

3200

3200
2400

2400
3600

3600
Correct Ans : A

Subject : General Maths

Q.No: 65 Sanjay deposited 400 for 5 years and 500 for 4 years at the same rate of simple interest in a bank. He received 200 as an
2439132 jnterest. Find the rate?

IO A TF ¥ T YR A6 B X W 5 1A & 1T 400 T 3R 4 I & A€ 500 9 57 Ul ¥ 9191 & ¥ H 200 T0 U §UI
S @R 1A D2

3%

3%
2 %

2%

4 %

4 %

5%

5 %
Correct Ans : D

Subject : General Maths

Q.No: 66 What sum of money will amount to Rs. 724 in 4 years and to Rs. 870 in 6 years at simple interest?
2439157

fopait M TYRYT SIS X W 4 T H 724 30 3R 6 I § 870 IUY Y SMWH?
Rs. 432

432 34y

B Rs. 480
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480 ¥Ud

Rs. 456
C

456 304

Rs. 524
D

524 ¥qd

Correct Ans : A

Subject : General Maths

Q.No: 67 An article is sold at a 10% profit. If it been sold for Rs.18 less there would have been a loss of 12.5% on it. Find the SP of article
2730453 tor 30% profit.

T I BT 10% ATH TR 51 ol 21 3R 3 18 30T HH H o1 oYl 39 W 12.5% BT THAM 81T § | 30% Y & oY axg &1 s qeu
1 R

100

100
80

80
88

88
104

104
Correct Ans : D

Subject : General Maths

Q.No: 68 A lift has a maximum capacity of bearing/carrying 2200 kg. The lift got overloaded when 25 persons, assuming each to be of equal

2781122 \\gight, got into the lift. Two persons came out and another man weighing 75 kg got into the lift with his dog weighing 9 kg and
the lift became loaded with full capacity. Find out the net weight which caused the lift to become overloaded (over and above the
maximum capacity).

T foe @t Sifidhan &mar 2200 6 981 &1 o1 3| forge sifawia 1 S Sie 25 =afdd, Ude o7 avH IR 3, e & omd €] < safdd aeR
3T & 3R 3 Ffa RoraesT aor 75 fba & oo & A1y forrast 9o 9 fomm § forge & o § SiR forre &t eran ot &) Sirelt 8| 39 9o &t 91
FIfoRr? R forge &1 AfRruTRa far S epar § (ifiead efar ¥ SR 3R SW) |

92 kg

92 f&ur
B 100 kg
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100 &
184 kg
C
184 feur
84 kg
D
84 fm

Correct Ans : B

Subject : General Maths

Q.No: 69 A, B and C individually can do a certain piece of work in 21 days, 28 days and 24 days respectively. They started working together
2781224 ¢ after 4 days A and B left the job and the remaining work is completed by C alone. In how many days the entire work is
completed?

A, B 3R C b0 Th 1 &1 PR 21 37, 28 R 3R 24 T & 9% T §| 3 9 # 31 1 Y& IR & R 4 7 918 A 3R B &1 Bl 3
? 3R AW B B C 3B AT HT B fban T & 1 1 WA Bl 22

18 days
A

18 fa

16 days
B

16 fa=

14 days
c

14 fe=

12 days
D

12

Correct Ans : B

Subject : General Maths

Q.No: 70 The average weight of five students is 58 kg and weight of one student was 66 kg but was misread as 46 kg. Calculate the new
2781238 average.

Ui BT T 3id aoi 58 i § 3R U ©F o1 a9 66 53T 41 R 98 TTord! § 46 o ug foram mmam un) ar 3ira 91d &9

59 kg
A

59 f&um

62 kg
B

62 f&m
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64 kg
c

64 fom

65 kg
D

65 foam

Correct Ans : B

Subject : General Maths

Q.No: 71 Which two numbers should be interchanged to make the given equation correct?

2426644
36 +6+2-16 x 3 =26
3 T THfieRuT 1 WE S & fow 6 <1 el &1 emue # Saan o a1fge?
36 +6+2-16 x 3 = 26
2and 3
A
23R 3
6 and 16
B
6 3 16
36 and 16
o
36 3R 16
3 and 16
D
3 3R 16

Correct Ans : B

Subject : Mental Ability

Q.No: 72

4 1 1 1 gl
2429649 Which of the following cubes can be formed by folding the given figure?

M| P

R
0]Q
N
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& 75 T F Az T F ¥ FiF T 99 IIR—T ST Fehat 87

M

P

M

R
Q
N

o |7
A

M

o |7

M

m IV
B

M

= ¥

R

v B
C

R

v B

3]

v B
D

]

vy B

Correct Ans : B

Subject : Mental Ability
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Q.No: 73 1In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements
2430231 (4 pe true even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if
any, follow from the given statements. Indicate your answer.

Statements: Although we have rating agencies like NASA WADA, there is demand to have a separate rating agency for IT and
nuclear companies to protect investors.

Conclusions:
I. Assessment of financial worth of IT and nuclear companies calls for a separate set of skills, insight and competencies.

II. Now, the investors investing in IT and nuclear companies will get protection of their investment.

fafifad g # < $YF 3R 39 a1c &l ey (1) iR (I1) T 7 §1 Ut Syt &1 T JFAT 8, Y &) 3 JHga: 91d et ¥ i edid g gt
3P Tg 79 H1 ¢ b G T et & @ o w1, afe H1E §Y, AT MU St 1 U1e FT 713U IR BT 9T R

HY: gIaih SAR TR 1T a1eT St X waifyai ¥, AfteT ot Bt TqRem $ g 3t 3R wamy) dhufl & forw uep e e ot @t A R
e

1. SISt 3R WA el & oo gea &1 siide divid, Siaed ok gardrsit & Ud SieiT e &I AT &l g

I1. 3§ 3M$ET 3R WA FHufat § fa w7 arat et &Y oo Fawr &t gre firantt

Only conclusion I follows

A
Fad ey I IR0 Ha1 8
Only conclusion II follows
B
Faa ey 11 SFERor Far @
Either conclusion I or II follows
C
a1t s I 9T IT SRR T @
Neither conclusion I nor 1I follows
D

T freed 1 iR 7 € 1T 3rgERor Far @

Correct Ans : A

Subject : Mental Ability

Q.No: 74 1n the following question, two statements are given followed by two conclusions (I) and (II). You have to consider the statements
2430240 (4 pe true even if they seem to be at variance from commonly known facts. You are to decide which of the given conclusions, if
any, follow from the given statements. Indicate your answer.

Statements: The best way to finish a problems is to solve them.
Conclusions:
I. Your life will be poor if you do face a big problem.

I1. To finish the problems, you always have some solutions with you.
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fufafaa oy # 3 By 3R & 916 o Y (1) 3R (I1) faT MU §1 3Tue! HuT B ¥ AT €, Ha 8§ 3 Iiaa: 1d a9 frg udid g g
YD Tg T HAT 8 6 G T et & @ o w1, afe B |, AT MU Syt &7 916 FRAT B U IWR BT 9T B

FY: B TR B GAG PR BT TG DT AWPT 34U g BT 5
Ao

1. afe 3y fordt It THWT BT AT ARG ¢ dl 3MUDT Sitgd BRI BT
I1. THErelt & T IRA P A, 3P U SO $B FAH 8 2

Only conclusion I follows

A
Faq e 1 3R BT @
Only conclusion II follows
B
Faa Frepd 11 SRR Har &
Either conclusion I or II follows
C
a1 <t fpd 1 AT 11 SR Fean @
Neither conclusion I nor II follows
D

T dt frspd 1 3R T € 11 e Bear @
Correct Ans : D

Subject : Mental Ability

Q.No: 75 TIn a certain code language, “+ represents “=°, “+° represents “+°, “*° represents °-° and °-° represents “x’.
2436534 gt is the answer to the following question?

108 +27+18-3x12="7

s AfFEa E!e_c.r T &, =, = & Uafaffcd Sar & = “+ @ 0, - & g7 7, % &
yfafafaca &ar 81 e & & &9 &1 R &1 3cag gem
108 +27+18-3x12="2

38

38
62

62

46

46
49
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49
Correct Ans : C

Subject : Mental Ability

Q.No: 76 Thursday falls on 16 April 1671, what will be the day on 16 April 1675?

2437412
16 30 1671 B! TIAR US I &, 16 30d 1675 B S 1 fa gme
Monday
A
HHAR
Tuesday
B
UGG
Wednesday
C
qYarR
Friday
D
ThdR

Correct Ans : B

Subject : Mental Ability

Q.No: 77 If the 23 of a month is a Sunday, what day it would have been two weeks and four more days earlier?

2437433
e Tt 7El Y 23 dRE &) MR B, O &) IwiTE 3R =R o uga & &1 fo giare
Monday
A
LILEIN
Tuesday
B
LRI
Wednesday
C
gUaR
Thursday
D
TeaR

Correct Ans : C
Subject : Mental Ability
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Q.No: 78 A cube is painted and cut into 64 smaller and identical cubes by making the minimum possible number of cuts. How many smaller
2438456 (pes have no painted face?

T T %Y Ue a7 I1dT B 3R 64 BIe AR TAF 71 & PTeT Il 7, TR wel Bt gaad THa T2 811 fba B o1 315 T gafl o -l 82

4
A

4

6
B

6

8
C

8

10
D

10

Correct Ans : C

Subject : Mental Ability

Q.No: 79 Complete the following series

2438776
125, 375, 377, 1131, 1133, ?
Prafifd @ & R R
125, 375, 377, 1131, 1133, ?
3399
A
3399
1136
B
1136
1135
C
1135
1234
D
1234

Correct Ans : A

Subject : Mental Ability

Q.No: 80 Introducing Rimi, Moulik said “Her father is the only son of my father”. How is Rimi related to Moulik?
2439343
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forft &1 ufer 33 gu, Mfdie 3 a1, "SuF foar R UG & gwdld @@ &1 9 faft ffve 3 defia g2

Daughter
A

I&

Sister
B

CIE)

Aunt
C

Tt

Mother
D

Hi

Correct Ans : A

Subject : Mental Ability

Q.No: 81 The distance between two cities is 30 km. A man goes at a speed of 30 km per hour and returns at 20 km per hour. What is his
2442248 4yerage speed?

3 TRl & o9 31 g 30 [ B1 v wfaa 30 St/ wver o5t wfa [ oar @ iR 20 fHi/ger @t fa I oy e 81 Suet o Tifd @ 22

25 km/hr
A

25 Tt/ der

24 km/hr
B

24 Tt/ der

10 km/hr
C

10 f&eft/der

26 km/hr
D

26 Tt/ der

Correct Ans : B

Subject : Mental Ability

Q.No: 82 Which one word can be formed from the following letters ?
2442847

eml!l i |l so ul uf

fafafad seRt ¥ o9 91 U g 1T S Jobdl B2

eml!l i |l so ul uf

A mackling
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mackling

mellifluous

B
mellifluous
magnetic
C
magnetic
matricuation
D

matricuation
Correct Ans : B

Subject : Mental Ability

Q.No: 83 1In a class, Alan's rank was 20 from the top and 58 from the bottom. How many total students are there in class, if each student
2727630 got a different rank?

TS Hefl H, A &1 3% MY F 20 af 3R = § 58 a7 71 i U el &1 sremr-ora Y firem 81, O wen o o fbam famdf 82

85
A

85

77
B

77

38
C

38

65
D

65

Correct Ans : B

Subject : Mental Ability

Q.No: 84 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

2782063
RA, JF, BK, TP, LU, ?
T 3pH foar man B, o 9 ue ug g 1 fu M fawedt # 9 a8 w6 fawed g, ot owmd & I B
RA, JF, BK, TP, LU, ?
QY

A

QY
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RX
B

RX

Dz
C

Dz

TZ
D

TZ

Correct Ans : C

Subject : Mental Ability

Q.No: 85 Find out the odd word/letters/number/number pair from the given alternatives.

2782067
ferq g faepedl 9 fawH wreg / SR / e / W & SS! Bl J1d 2
Hours
A
Hel
Decibels
B
ELIEE]
Minutes
C
fime
Seconds
D
Abs

Correct Ans : B

Subject : Mental Ability

Q.No: 86 511 7 11,

Whi ing i 2, ==,
2427244 Which of the following is the largest o' 12' 18’ 71

Defea A aed e, 2 2 U

6'12"18" 21

[« W T
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11
12

11
12

18

11
21

11
21
Correct Ans : B

Subject : General Aptitude

Q.No: 87 HCF and LCM of the two numbers are 7 and 210 respectively. If one number is 35 find out the other number.

2427262

31 WEeft HT HCF SR LCM HTRT: 7 3R 210 B AfE T WA 35 § ol GORT T3AT 1 P |

42
A

42

23
B

23

16
C

16

21
D

21

Correct Ans : A

Subject : General Aptitude

Q.No: 88 If the car’s speed is 27 km/hr. Calculate distance travelled by the car in 7 hours.
2427283

I TP PR P 1q 27 fFf/der 8, @t 7 98 ¥ ®R gRI a9 3T TS 2 71 BN
A 150 km
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150 feft

242 km

242 fet

175 km

175 foft

189 km

189 &t

Correct Ans : D

Subject : General Aptitude

Q.No: 89 1If the length of a train is 200 m and it crosses a tunnel which is 250 m. If the train’s speed is 30 m/s, then calculate the time by
2427341 \\hich the train crosses the tunnel.

Ife; frelt 27 Y daE 200 HieR § 3R T8 TH & HY UR Fedl g S 250 HieR 7
TR T o1 Wi 30 Hiex § @ 5 70T &% 6 2 59 IHg a9 T3 UR =l B

15s

A
15 9
10s

B
10 ¥
35s

C
35 AFs
12s

D
12 A

Correct Ans : A

Subject : General Aptitude

Q.No: 90 A train consists of 45 carriages with it, each having length of 40 m. When an engine of length 120 m is running at the speed of 54
2427376 km/hr. Calculate the time by which the train passes the bridge which is 1200 m long.

TP o W 3P WY 45 TSt gt ¢, o ¥ Ude B dars 40 Her gl 81 9F warg 120 Hiex &7 §5H 54 ffl/der & IR ¥ 9 @1 |
1200 Hiex @1 9d ¥ ¢ {59 G0 ToRd! B, SHS! 70T B

205 s

205 dFs
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270 s

B
270 JHs
320s

C
320 AHs
208 s

D
208 JHs

Correct Ans : D

Subject : General Aptitude

Q.No: 91 Find the smallest fraction of the following fractions?

2432023
fafafea el & 9 999 81K g 31 S
20
31
A
20
21
3
8
B
3
8
43
C
23
1
4
D
1
4

Correct Ans : C

Subject : General Aptitude

Q.No: 92 18 persons working 8 hours a day can complete 3 units of works in 10 days. How many persons are required to complete 5 units
2436091 f that work in 16 days working 15 hours a day?
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18 Ifaa wfafe 8 H¢ &1 Fvd §U 10 i3 T 3 P18 & T &R ahd g | W & &Y 16 o F WAl 15 9 &M &R §U 5 SHR BT QT
T & o fora safaadl 3 sawgdmdr geir?

9

20

20
25

25

15

15
Correct Ans : C

Subject : General Aptitude

Q.No: 93 If the six digit number 6x2904 is divisible by 88, then the value of x is:

2436205
e BE-3iP! BT AT 6x2904, TAT 88 J U § Y x FT A TI:
5
A
5
6
B
6
7
C
7
8
D
8

Correct Ans : B

Subject : General Aptitude

Q.No: 94 7Men or 8Women can finish a work in 10 days. How many days 14Men and 16Women will take to finish this job?
2438239

7 93 1 8 Afgant fareht wrf Y 10 o H TAN R THd §1 14 TIW 3R 16 AR 39 S & W FxA & fbe fo e

A T
2—das
6
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ta
b | —

1 ﬁ:[
2 ol
2
Correct Ans : D

Subject : General Aptitude

Q.No: 95 40 men can catch 200 sharks in 20 days working 6 hours a day. In how many days 25 men can catch 300 sharks working 4 hours
2438324 day?

40 Y 20 37 H 200 UH UHS Tohd § S 6 6 B B &1 25 ¥ Ufd & 4 4 B B 300 M B b o # uwvs Tbd 72

30
A

30

34
B

34

24
C

24

72
D

72

Correct Ans : D

Subject : General Aptitude

Q.No: 96 In how many ways can 10 true-false questions be replied:
2444384


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

10 T JUT 39 Ut & IR o UeR ¥ o o g §:

20
A

20

100
B

100

512
C

512

1024
D

1024

Correct Ans : D

Subject : General Aptitude

Q.No: 97 A coin tossed 4 times. The probability of getting at least one head is -
2444404

T RyaepT 4 IR IB1A 91 8, $H ¥ HH Th IR Y U B Bt Ui¥yebel @8-

1/16
A

1/16

2/16
B

2/16

14/16
C

14/16

15/16
D

15/16

Correct Ans : D

Subject : General Aptitude

Q.No: 98 cp Fa-h="- cn— A - cd—14- ca—1-
3444451 Finda:e,ifa:b=2:3,b:c=6:7,c:d=14:25andd:e=1:2,

acemmaAioTaf® a:b=2:3,b:c=6:7.c:d=14:2550<d - e=1:2.

A 14 : 25
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14: 25

6:25

6:25

12: 25

12: 25

4:25

4:25
Correct Ans : D

Subject : General Aptitude

Q.No: 99 Ty 3 triangle ABC. 2A =60°. AB =6 cm and AC =4 cm. Find BC.
2730258

87T ABC 7. £A = 60°. AB = 6 YHT TT AC = 4 §#I. BC T AT A1 HIT=147

247 em
A

2V7 ST

35 cm
B

35 &AT

V7 em
C

W7 &

55 em
D

5v/5 T

Correct Ans : A

Subject : General Aptitude

.No: 100 : : : 0
277(;442 The sides of a triangle are in the ratio

[

|
| e

. If the semi-perimeter of the triangle is 47 cm, then what

is the length of the longest side?
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20 cm

20 9

40 cm

40 I
44 cm

44 ¥+

30 cm

30 9t

Correct Ans : B

Subject : General Aptitude
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